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Fral C BMEE L AE LY ‘f'éa( AE) #B HEMEE £ 2 B %2 | 7
EMER S LB cm(—HFE) : :
EMEEL LA LY Ta(—K4)

FAERRANE B | “ - C AMEREERE (B A#E

- — ~ What is process migration? List five reasons for executing process migratiorn.
(10%) . '
—_ ~ What is inode in Unix, and what are the typical information contained in an
inode? (10%)
~ If you want Unix to remember where you were and take you back to that

]

location, which commands will you use? (5%)
(a)cd, 1d
(b) pushd, popd
(¢) intd, bkd
(d) pwd, 1s s
PO ~ What testing is the fi inal stage in the testmg process before the system is accepted
for operatlonal use (ZIS/J\%EBE P EZ) ? Describe the characteristics of it
(A/NEE T STfE). (4%) .
A BRAGSESE S BERGH—E ”EUEK—‘% phase(s)%EIﬂ:‘EE Project
dictionary 8 » HT{FEIPIEELY 32]:1’!3 HIEEH BT 2 (10%)
7N ~ A relational database » DUBI7R K OLF » SR B conceptual model » external
mode] i internal model (Bl77F Chen Model or Crow s Foot model #J ERD)
(12%) ‘
t -~ BEE (8/NE3%)
: (a) ¢5—(& Ethernet MAC address E’WJ
(b) Flow Control =& TCP/IP HHRESBHY TE ?
(c) SIP (Session Initiation Protocol) £ TCP/IP chEREL Y TAE ?
(d) {EASZE BNEAERE T B AR AR IR EE ?
(e) BAEEFE CSMA/CD PIEY Collision Detection #g] o
(f) CSMA/CA H NAV (Network Allocation Vector)HyEZ2H: 9
(g) %t Bluetooth [[j= - Piconet A E"j NB M 4I{t 2 Piconet B #Y NB N R,
=9
~ (h) Hashing EB{ B2 R TAR R EEE 9
S\ B PIFE R LS TR SR T ERECE Java 220 A, B, D LUK Demo |
Ei1 D A& final class o [E& 4IRS © ‘
1. (6%) {T58% (Polymorphism)(F HH I AEFE LTI RIEEE R ) 7 WIRE
MEFEasEHERTRRESFRTZE CRERTHBAESLIELZT

FFEsHH SRR AE)
2. (4%) FEHEH+ @ﬁi’fé&(Emapsulaﬂon)F RIZBE (AT ES R & B
H]) ? Z0{a[EXIE ?

3. (4%) 75t Class B NgEERZ BR(AREAT EF{’E'&)ZTEEQ.LEZ
. (5%) S8Rk Class D BN ZS
5. (4%) $5HERRE IR method overriding BIFFAERITHE

L EERT
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6. (2%) FEHIERSBIFHY method overloading HIFTETE1THS

) dd exam\ e
pllntlTO t

’”Tﬂ Dllﬂll{g»ligwu

01 | public abstract class A{
102 *|  public int VA=1;
03 | public abstract String ma();
04 public String mb(){ return "printing r"; }
05 |} |
06
| 07 | public class B exténds_ A{
08 | public BO{}
09 - public Strmg mb(){ return "prmtmg t"; }

1 10 publlc String mf(){ return ' 'printing f'; }
11 | | |
12

113 pubhc class D extends B{ :

14 - public Strmg mh(){ return "prmtmg h" }
15 .~ public String mh(mt VA) {retum "pnntmg hh" }
16 ° public String mx(){ return "printing x"; }

4 17 //Class D is incomplete 7

119

.| 20 | public class Demo{ :

21 public static void mam(Strmg ] args){

22 B b=new D() ‘

23 System.out.println("&E—fTFIE] : " +b);

24 _ System.out.println("& —FFIET © " + b.mf());
25y

26 |}
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